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BEHE, TOMICER S (—OUUTZYIVIET

Fa1 (9BE~128%) Fi& (1285~178) W (17k~228)
Edsﬂﬁ TANE [aEEmE| meE | QFt | | BAee|tamE | seEne] mesm | &5 | |Zane|ssmE |[sEEne| mes | &5
11 ZENE 2,340 0 0| 2,340 0|%| 3,300 0 0| 3,300 0|%| 3,300 0 0| 3,300 0
ERBY—ERE 1,010 0 0| 1,010 0|#| 1,320 0 0| 1,320 0|#| 1,320 0 0| 1,320 0
HE=E 1,010 0 0| 1,010 0|#| 1,320 0 0| 1,320 o|#| 1,320 0 0| 1,320 0
sz MERRE 710 0 0 710 0|#| 1,010 0 0| 1,010 0|#| 1,010 0 0| 1,010 0
RIVTF4TE 1,010 0 0| 1,010 0|%| 1,320 0 0| 1,320 0|%| 1,320 0 0| 1,320 0
3RD2FE% (HR) | BERE | mameE | »EEmE| meE | At BEApE | Home | seeng| meE | 9 EFRE | HoAME | sEEnE| FeE | 8§
1| ZENE 2,340 0 0| 1,560 780|%| 3,300 0 0| 2,200 1,100{%| 3,300 0 0| 2,200/ 1,100
ERBY—ERE 1,010 0 0 670  340|#%| 1,320 0 0 880|  440|#%| 1,320 0 0 880| 440
HEE 1,010 0 0 670 340|#| 1,320 0 0 880 440w 1,320 0 0 880 440
é MEREBRE 710 0 0 470 240(#| 1,010 0 0 670 340(#| 1,010 0 0 670 340
RIVTATE 1,010 0 0 670 340|#| 1,320 0 0 880  440|%| 1,320 0 0 880 440
 EERICIOWN =+0 | voimg [swmns] sem | A% ExNE | mAmE | sEEnE| BeE | A5 gxne | mome [aemns| BeE | A3
1| ZEHNE 2,340 0 0 0| 2,340|%| 3,300 0 0 0| 3,300|%| 3,300 0 0 0| 3,300
HRBY—ERE 1,010 0 0 0| 1,010|#| 1,320 0 0 0| 1,320|#| 1,320 0 0 0| 1,320
, HE=E 1,010 0 0 0| 1,010{#| 1,320 0 0 0| 1,320(#| 1,320 0 0 0| 1,320
» MERZRE 710 0 0 0 710|#| 1,010 0 0 0| 1,010{#| 1,010 0 0 0| 1,010
RIVTA4TE 1,010 0 0 0| 1,010{%| 1,320 0 0 0| 1,320|#%| 1,320 0 0 0| 1,320
 EERTCION =+0 | voims [smmns] sem | A% EARS | moME | 2EEnE| HeE | &8 EXRS | mAME | 2EEnE| HeE | &8
1| ZENE 2,340 1,170 0 0| 3,510(%| 3,300/ 1,650 0 0| 4,950|%| 3,300| 1,650 0 0| 4,950
HRBY—ERE 1,010 500 0 0| 1,510|#| 1,320 660 0 0| 1,980|#| 1,320 660 0 0| 1,980
, HE=E 1,010 500 0 0| 1,510(#| 1,320 660 0 0| 1,980(#| 1,320 660 0 0| 1,980
" MESEE 710 350 0 0| 1,060|{#| 1,010 500 0 0| 1,510{#| 1,010 500 0 0| 1,510
RIVTATE 1,010 500 0 0| 1,510|=%| 1,320 660 0 0| 1,980|%| 1,320 660 0 0| 1,980




